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= 548, 122
Al 9,727
HAZET ALSO 132,327 136,783 A4,456




SN
X{ ZH -
S Tt

=l

AL
2=2 MESEAMHA X3
FABAAS

S - B (FH) - NBEAIY - BHA2 HEE HD=2t
- S v o B ° T Nrs == O] AFOH Wsa
= 105,862
& 13,232
Al 13,233
307 QI2tol™ 132,327 136,783 A4, 456
= 105,862
= 13,232
Al 13,233
02 SI2tZAE X 132,327 136,783 A4, 456
OFAMEETIANE SN 132,327,000& 132,327
= 105,862
& 13,232
Al 13,233
SAUQLAAE MIASHSMA S22 106,915 103,947 2,968
& 32,075
Al 74,840
307 QI2told 106,915 103,947 2,968
& 32,075
Al 74,840
02 QIZtBAE X 106,915 103,947 2,968
OFURLAANE SAX S22 S N
106,915,000& 106,915
& 32,075
Al 74,840
HAQLAAL S SHSH XA 2,000 2,000 0
T 2,000
307 QI2t0l™ 2,000 2,000 0
& 2,000
02 GI2tAAEX 2,000 2,000 0
OFUNRAANL S SHSHI 2,000,000 2,000
= 2,000
X OH 22| AF e 5,000 10,000 25,000
201 2EtE3| 3,800 8,000 A4,200
01 AtSR2t2ldl 3,800 8,000 24,200
OXlHogwa 24 120,000& =153 1,800
OXlH2eIMg =8 1,000 x2& *1,00004 2,000
301 LEEAZ 1,200 0 1,200
12 JIEt2 432 1,200 0 1,200
OXHogwal 2AZ 80,000& x153] 1,200
XoHo e Y SE2e 7,500 7,320 180
3,750
3,750
307 QI2tol™ 7,500 7,320 180
3,750

3,750




A EAA
g3 =2 MUz hblA N
Sel ZAEAAY QHES)
_ _ - HEc
A3 - 22A(ZAH) - MBAY - BE=S &HeR loﬂ/lx_FOH R
01 =2 F 2 7,500 7,320 180
OXIoho e & SS2el(XHEIIZE)
7,500,000 7,500
= 3,750
Al 3,750
XX Z22teldl X3 At 41,250 39,960 1,290
= 20,625
< 6.188
Al 14,437
307 212t0ld 41,250 39,960 1,290
= 20,625
< 6.188
Al 14,437
01 22X T =H] 41,250 39,960 1,290
OXIHXIE 22t XEAS 41,250,000 41,250
= 20,625
< 6,188
Al 14,437
AEBN H3E g S NE 33,000 31,680 1,320
301 LEtEHS 30,000 27,600 2,400
01 At2l2&8 M =+dl= 30,000 27,600 2,400
OJtdg 4Nt s N&H
100,000 »25& 122 30,000
307 212t0ld 3,000 4,080 A 1,080
01 A=2HF2H 3,000 4,080 A 1,080
elefelstl § X 50,0002 «5& x 122 3,000
ZFgdogy 2 2el 771,152 770,457 695
= 610
p) 88,292
< 193,020
Al 489,230
HEEMY 2elMA A5 409,984 388,092 21,892
= 610
Jl 4,018
< 75,408
Al 329,948
FRESEEZA 1,220 960 260
= 610
< 610
301 LEtEH= 500 0 500
= 250
< 250
10 SALEHIE2H S 500 0 500
OE=EZAAIY 224l 500,000& 500
= 250
< 250

3
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M BAA
M FELHMY 2 2el
HR dEEuY 22 MA 2E (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
307 2I2tol: 720 960 2240
= 360
= 360
02 2ItBAE X 720 960 A 240
O=IGEIE2AZA2I|2 2|
720,000& 720
= 360
= 360
ZeteloF Bl XA 112,980 112,980 0
= 56,490
Al 56,490
201 Yer2d| 47,000 47,000 0
= 23,500
Al 23,500
01 AtR2telH 32,000 32,000 0
OYgdANY B2 27,000,000& 27,000
S 13,500
Al 13,500
OZetelols LAYR=A g AR
5,000,000 5,000
(= 2,500
Al 2,500
02 33234l 15,000 15,000 0
OLAARFa g Y AIEEHI =X
15,000,000& 15,000
(= 7,500
Al 7,500
206 X2l 65,980 65,980 0
=3 32,990
Al 32,990
01 MZH 65,980 65,980 0
OZetelOtE R gH9sE ¥ M2
65,980,000& 65,980
= 32,990
Al 32,990
S8 A 3,000 3,000 0
S 900
Al 2,100
307 2120l & 3,000 3,000 0
S 900
Al 2,100
01 A2+ =H 3,000 3,000 0
OS=dgAL 3,000,000& 3,000
= 900
Al 2,100
ctell ISRYE ZEAZ 1,020 1,020 0
= 306




M BAA
M FELHMY 2 2el
HR dEEuY 22 MA 2E (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ioﬂ/i\_FOH BlusZ
Al 714
307 2120l & 1,020 1,020 0
= 306
Al 714
01 A2 F=H 1,020 1,020 0
Ot FEHEA Y 1,020,000& 1,020
S 306
Al 714
QAtEgad gAXE 17,368 17,368 0
(= 5,211
Al 12,157
206 M=l 17,368 17,368 0
= 5,211
Al 12,157
01 M=Hl 17,368 17,368 0
OgIiztisgdd gaotgE o 2|
17,368,000& 17,368
(= 5,211
Al 12,157
dZEHEE gAHAE AYHIXNE 32,940 28,704 4,236
= 9,882
Al 23,058
206 M=l 32,940 28,704 4,236
= 9,882
Al 23,058
01 M=Hl 32,940 28,704 4,236
OHgddEMY & YAAHY] 32,940,000& 32,940
(= 9,882
Al 23,058
ZeiEIt2tel 1,100 2,100 A 1,000
202 Oddl 100 100 0
01 =Wy 100 100 0
OgZANES =2 (ZHELX0IHI)
100,000 100
307 GI12t0lH 1,000 2,000 21,000
01 =22 F=H 1,000 2,000 ~1,000
OZda2IIsEx2ASHl 8,000& 53 259 1,000
gass2el L 488 LS 171,820 161,220 10,600
101 Q14| 78,000 70,700 7,300
04 JIAHZZ2NHSE= 78,000 70,700 7,300
OLAIAFS (2 ARS AL) 80,0003 »1H *30& 2,400
(@)= 5= EN=jel el 75,600
-Altressd 56,0003 6 9 3,024
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SN
X{ ZH -
S Tt

o

SAL
DEeMoy o e
Moy 2alHH 7S

SN CR(EH) - NRAY - BES

22
J2

20
B
2

-20] 1,344,00021 +6 %+ 72,576
201 ety 18,920 19,420 2500
01 AL 22/t 10,920 11,520 £600
OgeA=0oLZ | 7,00021 6%+ 100 4,200
OYoASOIR Zem S 1 120,008 69 720
OFE= TR 1,0008 555 +1,200% 6,000
02 T2l 8,000 7,900 100
Ogoixiel HAASI| S AILRHI ST
7,000,000 7,000
OEDIMHIARBLMSHA DML
1,000,000 1,000
202 o1l 1,000 1,000 0
01 2UoiH| 1,000 1,000 0
OFAYU YRR =XOHl 1,000,000 1,000
206 T2 67,600 62,000 5,600
01 MHEH 67,600 62,000 5,600
OFAY0Y HoiotE o WA 59,600
-S89 1,300 %20,000 £ 26,000
5o 1,800 %2,000 £ 3,600
—greiorE o JIEHH 2| 30,000,000 30,000
ODIRetK HBAE 10,0002 +300kg 3,000
OYSULI AL 20,0001 2507 5,000
307 212+0|® 2,500 2,500 0
02 BIHBAEXE 2,500 2,500 0
Ontgges 2| 2,500,0002! 2,500
405 RH&HF S 3,800 5,600 A 1,800
01 Ko 2S5 S| 3,800 5,600 A 1,800
Otz g 1,900, 000! #2CH 3,800
BAL AT LBHA A AL 60,500 60,500 0
307 12+0IH 60,500 60,500 0
NIEEEEEN 60,500 60,500 0
O BRI 2 ALY 1,500 %37, 000% 55,500
OY At I =2 A 20,0002 +100% 2,000
OBIBHZ2I AL 24 ALt 15,0002 +200% 3,000
EEEETEY Gkl 3,446 0 3,446
p 1,723
= 861
Al 862
307 12+0IH 3,446 0 3,446
p 1,723
< 861
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2N
X XH: X
o T

=
el

el
x
0
-
0
=0
fon
*
N
el
=
R
g
0x
I
=
[
2
2
R
12
o
£l
0l%
IS

Al 862

01 A2+ =H 3,446 0 3,446

reEEeuES E=PN = PSR | 3,446,000& 3,446

1,723
861
862

=X

Z BN QR AL g 8.316 0 3,316
1,658
829
829

=X

307 2120l & 3,316 0 3,316
1,658
829
829

= Y

01 A= =4 3,316 0 3,316
Ozl e+ 3,316,000& 3,316
1,658

829
829

= H X

BCGEH &1 2 &4 H 1,274 0 1,274
637
319
318

= H X

307 G12+0ld 1,274 0 1,274
637
319
318

=X

01 SI24 =l 1,274 0 1,274
OBCGER &l 2 I 1,274,000& 1,274
637

319
318

=X

g8 2 ololx=2el 16,024 23,604 AT7,580

P 7,452
Al 8,572

OlOI =& EHAI2F 2 4,504 4,504 0

Il 2,252
Al 2,252

307 2120l & 4,504 4,504 0

Jl 2,252
Al 2,252

01 oz 4,504 4,504 0
4,504,000& 4,504
Il 2,252

Al 2,252

He
"
U
=

@)
2
=

pal
o
=
12
4
©e

GlOI =2tk & =4l 9,588 9,588 0
p) 4,794
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SN
X{ ZH -
S Tt

o

SN CR(EH) - NRAY - BES

[
2

20
B
2

Al

4,794

307 2120l &

Il
Al

9,588

4,794
4,794

9,588

01 e gd+z
ES

9,588,000&
Jl
Al

9,588
9,588

4,794
4,794

9,588

Il
Al

812

406
406

812

307 2120l &

Il
Al

812

406
406

812

01 22+
Al

812,000&
Il
Al

812

812

406
406

812

1,120

8,700

AT7,580

1,120

1,120

70,000& * 162

1,120
1,120

1,120

=X

345,144

76,822
117,612
150,710

358,761

A13,617

)
AS
=
g
oA
0Kt
0
10
{0
i

O

=X

67,222
33,611
16,806
16,805

69,673

N2,451

307 2120l &

>my

67,222
33,611
16,806
16,805

69,673

A2,451

67,222,000

= H X

67,222
67,222

33,611
16,806
16,805

69,673

N2,451

= H X

63,094
31,547
15,774
15,773

63,000

94

307 GI12told

<

63,094

31,547
15,774

63,000

94
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M BAA
M FELHMY 2 2el
SR HgE s (&9 &)
_ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F OH ‘Oﬁ,‘\jg‘g BlusZ
Al 15,773
01 SI2€ <2l 63,094 63,000 94
(OUR= S S a] 63,094,000 63,094
Pl 31,547
= 15,774
Al 15,773
HEEESSSHEI2DHI(el24]) 20,928 20,288 640
Il 10,464
= 5,232
Al 5,232
101 1A H] 20,928 20,288 640
Jl 10,464
S 5,232
Al 5,232
04 JIZtHZ2HSE= 20,928 20,288 640
ONgEESS=SHEI2EHI(22H])
20,928,000& 20,928
Il 10,464
= 5,232
Al 5,232
IZR0I S2IUHLES 90,000 105,000 A 15,000
= 27,000
Al 63,000
307 Q12told 90,000 105,000 215,000
e 27,000
Al 63,000
01 A= =H 90,000 105,000 A 15,000
OQE=2L RRULES 90,000,000 90,000
= 27,000
Al 63,000
=HE=HSES 14,500 100,800 /86,300
201 LEt=EH| 2,000 2,000 0
01 AtR2telH 2,000 2,000 0
ougass=s=s 74 2,000&*1,000& 2,000
307 2120l & 12,500 98,800 286,300
01 S84 <2l 12,500 98,800 286,300
OR=uLES(2E2E8) 10,0008 +1,000% 10,000
OUEESII X 2503 10,000 2,500
20 ESHESHARTEAS 87,000 0 87,000
= 52,200
Al 34,800
307 QI12told 87,000 0 87,000
S 52,200
Al 34,800
01 A= =H 87,000 0 87,000
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M BAA
B RHUMY Y 2
&2 eI s 2 (ctel: &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
OZROEHEZS dMXR 87,000,000 87,000
= 52,200
Al 34,800
BE A=A S X R 2,400 0 2,400
Il 1,200
= 600
Al 600
307 gI2told 2,400 0 2,400
| 1,200
= 600
Al 600
01 d=H=H| 2,400 0 2,400
OBg =X A UL X2 2,400,000& 2,400
| 1,200
= 600
Al 600
HY2IHH(B2AL) 166,178 153,857 12,321
OIH2HHI(BAHA) 72,048 69,327 2,721
HFOIAHBI(BEAH L) 72,048 69,327 2,721
101 elHH| 72,048 69,327 2,721
03 RIAHAZZNE = 72,048 69,327 2,721
ORIIAHAZZ A Tl=Hl 200,000 =3 600
OScelxZ At 25,801
s 966,460 x1H +12& 11,598
-&=3 11,597,520 3 »1H %1/3 3,866
-Jhat 3 11,697,5203 x1H +0. 12 1,392
“AIZRI 2R E 8,320 x1H «22A| 2tx 123 2,197
-FYZ22=H 66,6002 x1H 2L 128 1,599
=54 44 4003 x1H «52F 2,309
-H g Al 80,000 x1H «12& 960
-ws 22| 60,0003 x1H«12& 720
-EEF | 579,880& x2& 1,160
O &HCIA 25,801
-JleEs 966,460 x1H ~ 123 11,598
& 0= 11,597,520 & 14 *1/3 3,866
-Jtat3d 11,597,520& 12 +0. 12 1,392
A2l =G 8,320& x1H »22A| 2t+ 12 2,197
5222+ 66,6003 x 122+ 123 1,599
-5 44,4003 1 H «52== 2,309
-gA g Al 80,000 x1H «12& 960
-Es2 2| 60,000 x1H «12& 720
-FEF Ot 579,880& »2& 1,160
OSlA et =<0l 19,846
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M BAA
M HZy2IIH(EAL)
Eel: EHHI(EAHA) (el &
SA-EFH - SA(SAH) - MREAY - BES Off &F K gggfg BlusZ
-Jl2s 734,800& 18 ~123 8,818
-240= 8,817,600 x 18 *1/3 2,940
AR 8,817,600& x1&+0. 1 882
ARl =G 6,330« 1E *22A| 2tx 123 1,672
SY2R=d 50,6403 x1Z x2U x 128 1,216
FE+E 33,7603 x1H 52 1,756
- A S A 80,000& x1H*128 960
-2 A& 60,0003 x1H 128 720
-GEFOH 440,880 x22 882
Jl2ZdH(EAd) 94,130 84,530 9,600
Jl=2dH(EAd) 94,130 84,530 9,600
201 Yere | 23,490 23,490 0
01 AtR2teld] 23,490 23,490 0
ORN2Y At22teltl 23,490,000& 23,490
202 O4Hl 65,280 55,680 9,600
01 =LHAOYI 65,280 55,680 9,600
OJI2gR==30HI(34Y) 65,280,000 65,280
203 YR=AH] 5,360 5,360 0
02 FEIMMMPLF=AH| 1,160 1,160 0
OZ MY L= 40,000& 29 1,160
04 EAN2SYERFAH| 4,200 4,200 0
ORN2gdR=8H[(302015t)
350,000& «12& 4,200
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